Chapter 9 Extra Practice Answers

1a. Puzzle Completion
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1b. Sample answer: the scatter plot shows a positive linear association.
There are no clusters or outliers.

1c. Sample answer: 260 min

2a. United States Gold Medals
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2b. Sample answer: The scatter plot shows a linear association. There are
no clusters and one outlier.

2c. Sample answer: There is not a positive or negative relationship, but
the number of medals is around 40 each year. You could reasonable
predict that the number of gold medals in 2016 would be around 40.

Course 3 * Chapter 9 Scatter Plots and Data Analysis



